F253 Calculus III: Quiz 4 October 5, 2022

Name: 5 o \aj¥ A TN

1. Consider the function .
fx,y) = 1()—(x2+y )

Sketch the level curves for this function for the valuesc = 1, ¢ = 1/10, and ¢ = 1/100.
Indicate clearly in your diagram which curves correspond to which values of c.
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2. Sketch the graph of the function from the previous problem.
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3. Consider the function Xy

X2+ 3y2°
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e Is (0,0) in the domain of this function? Why or why not?
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e What is the value of this function along the line y = x?
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e What is the value of this function along the line y = 0?
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e Either compute " l)m(l0 0 f(x,y) or explain clearly why this limit doesn’t exist.
y i

/[Le |(\Mc"|' Mwewb e/ch—,

TL‘Z’ ‘QW-.ULMV\ Val«e& a/o/aroao(q 7L,,do i/%&/‘(”
/lufw(Hrg s ﬂe, Mpw[-s "'%Aio ﬁ& /7%

O‘LLV\:\ “LLJO &M ‘\\n%,



